# Knots and Polynomials 

You Fa HAN*, Xiao Sha MA<br>School of Mathematics, Liaoning Normal University, Liaoning 116029, P. R. China


#### Abstract

In this paper, we deal with some corresponding relations between knots and polynomials by using the basic properties of knot polynomials (such as, some special values of knot polynomials, the Arf invariant and derivative of knot polynomials). We give necessary and sufficient conditions that a Laurent polynomial with integer coefficients, whose breadth is less than five, is the Jones polynomial of a certain knot.


Keywords knot; Jones polynomial; Laurent polynomial.
Document code A
MR(2000) Subject Classification 57M15; 57M25
Chinese Library Classification O189.3

## 1. Introduction

A fundamental problem is the classification of knots in the knot theory. The knot invariants play a very key role. So do knot polynomials. The Alexander polynomial $\triangle(t)$ [1] and the Jones polynomial $V(t)$ [2] are two well known knot polynomials. The Alexander polynomial $\triangle(t)$ is characterized by the following algebraic conditions: (1) $\triangle(1)=1$ and (2) $\triangle(t)$ is a reciprocal polynomial (sometimes abbreviated as $\triangle(t) \doteq \triangle\left(t^{-1}\right)$ ). It is well known that a Laurent polynomial with integer coefficients is the Alexander polynomial of a certain knot if and only if it satisfies the two conditions above [3, 4]. How can one tell whether a Laurent polynomial with integer coefficients is the Jones polynomial of a certain knot? In this paper, we will discuss the problem. In Section 2, we introduce the properties of the Jones polynomial and give the properties of derivative of the Jones polynomial, which are used in the next section. In Section 3, we give necessary and sufficient conditions that a Laurent polynomial with integer coefficients is the Jones polynomial of some knot, when the breadth of the Laurent polynomial is less than five.

## 2. The Jones polynomial and its properties

Let $L$ be an oriented link with $n$ components. So one has the Jones polynomial, denoted by $V(L ; t)$, of the link $L$ as follows:

[^0](1) $V(L ; t)$ is an ambient isotopy invariant;
(2) Skein relation: $t^{-1} V\left(L_{+} ; t\right)-t V\left(L_{-} ; t\right)=\left(t^{\frac{1}{2}}-t^{-\frac{1}{2}}\right) V\left(L_{0} ; t\right)$;
(3) $V(U ; t)=1$, where $U$ is trivial.

In (2), $L_{+}, L_{-}$and $L_{0}$ are the same except for in small disk where their projections are a positive crossing, a negative crossing and an orientation preserving smoothing of that crossing, respectively, as shown in the following Figure 1.

$L_{+}$



Figure 1 crossings
Lemma $2.1([2,5])$ Let $L$ be an oriented link with $n$ components. Then one can get the following properties of the Jones polynomial:
(1) $V(L ; 1)=(-2)^{n-1}$;
(2) $V^{\prime}(L ; 1)=0$, If $n=1$;
(3) $V\left(L ; e^{2 \pi i / 3}\right)=(-1)^{n-1}$;
(4) If $\operatorname{Arf}(L)$ exits, $V(L ; i)=(-\sqrt{2})^{n-1}(-1)^{\operatorname{Arf}(L)}$; otherwise $V(L ; i)=0$. Here $\operatorname{Arf}(L)$ is the Arf invariant of links. One can find the definition of the invariant in [5,6]. i denotes $\sqrt{-1}$.

To discuss the properties of derivative of the Jones polynomial, we introduce the Kauffman polynomial and its properties. We consider also oriented link though the Kauffman polynomial is defined for unoriented links. Let $L$ be an oriented link with $n$ components. So one can obtain the following recursive relations:
(1) $\left\langle L_{+}\right\rangle=A\left\langle L_{0}\right\rangle+A^{-1}\left\langle L_{\infty}\right\rangle,\left\langle L_{-}\right\rangle=A\left\langle L_{\infty}\right\rangle+A^{-1}\left\langle L_{0}\right\rangle$;
(2) $\langle U ; L\rangle=\left(-A^{2}-A^{-2}\right)\langle L\rangle$, where $U$ is trivial;
(3) $\langle U\rangle=1$.

In (1), $L_{+}, L_{-}$and $L_{0}$ are the same as in the Jones polynomial. $L_{\infty}$ is obtained by an orientation reserving smoothing of that crossing. $\langle L\rangle$ is said to be the Kauffman polynomial. $L_{\infty}$ and $L_{+}, L_{-}, L_{0}$ are the same except for in the small disk.

We call the equivalence generated by move II and move III (the Reidemeister moves) regular isotopy. Thus $\langle L\rangle$ is a regular isotopy invariant [7]. Let $\omega(L)$ be the writhe of $L$. It is also a regular invariant. We define $f(L ; A)=\alpha^{-\omega(L)}\langle L\rangle$, where $\rangle$ forgets the particular orientation $\left(\alpha=-A^{3}\right)$.

Lemma $2.2([7]) f(L ; A)$ is an ambient isotopy invariant for oriented knots and links L. And $f\left(L ; t^{-\frac{1}{4}}\right)=V(L ; t), V\left(L^{*} ; t\right)=V\left(L, t^{-1}\right)$. Where $L^{*}$ is the mirror image of $L$.

If $L_{+}$and $L_{-}$are knots, then $L_{0}$ is a link with two components, denoted by $L_{01}, L_{02}$, respectively. Set $l=l k\left(L_{01}, L_{02}\right)=l k\left(L_{0}\right) . L_{\infty}$ is also a knot.

Lemma 2.3 Let $K_{+}, K_{-}, K_{0}$ and $K_{\infty}$ be knots defined above. Then

$$
V\left(K_{+} ; t\right)-t V\left(K_{-} ; t\right)=(1-t) t^{3 l} V\left(K_{\infty} ; t\right)
$$

where $\lambda=l k\left(K_{0}\right)$.
Proof By the Kauffman relations above,

$$
\begin{aligned}
& \text { (1) }\left\langle K_{+}\right\rangle=A\left\langle K_{0}\right\rangle+A^{-1}\left\langle K_{\infty}\right\rangle \\
& \text { (2) }\left\langle K_{-}\right\rangle=A\left\langle K_{\infty}\right\rangle+A^{-1}\left\langle K_{0}\right\rangle
\end{aligned}
$$

(1) $* A^{-1}-(2) * A$ gives

$$
A^{-1}\langle K\rangle-A\left\langle K_{-}\right\rangle=\left(A^{-2}-A^{2}\right)\left\langle K_{\infty}\right\rangle
$$

Since $f(K ; A)=\alpha^{-\omega(K)}\langle K\rangle$, we have

$$
A^{-1} \alpha^{\omega\left(K_{+}\right)} f\left(K_{+} ; A\right)-A \alpha^{\omega\left(K_{-}\right)} f\left(K_{-} ; A\right)=\left(A^{-2}-A^{2}\right) \alpha^{\omega\left(K_{\infty}\right)} f\left(K_{\infty} ; A\right)
$$

By the definition of the writhe, one gets the following relations: $\omega\left(K_{-}\right)=\omega\left(K_{+}\right)-2, \omega\left(K_{\infty}\right)=$ $\omega\left(K_{+}\right)-4 \lambda-1$. So

$$
\begin{aligned}
A^{-1} f\left(K_{+} ; A\right)-A \alpha^{-2} f\left(K_{-} ; A\right) & =\left(A^{-2}-A^{2}\right) \alpha^{-1} \alpha^{-4 \lambda} f\left(K_{\infty} ; A\right) \\
f\left(K_{+} ; A\right)-A^{-4} f\left(K_{-} ; A\right) & =\left(1-A^{-4}\right) \alpha^{-4 \lambda} f\left(K_{\infty} ; A\right)
\end{aligned}
$$

This completes the proof by setting $A=t^{-\frac{1}{4}}$ and Lemma 2.2.
Remarks In [6] and [8], one can find a proof of the above lemma. Here we give an elementary proof by applying the relations between the Jones polynomial and the Kauffman polynomial.

Lemma 2.4 Let $K$ be an oriented knot and $\psi_{n}(K)=V^{(n)}(K ; 1)$. Then
(1) $\psi_{0}(K)=1, \psi_{1}(K)=0 ;$
(2) $\psi_{2}(K) \in 6 Z$;
(3) $\psi_{n}(K) \in 6 n Z$, for any $n \geq 3$.

Proof The first is clear by Lemma 2.1.
For (2), assume that $K=K_{+}$. By Lemma 2.3 and simple computations, one can get

$$
\psi_{2}\left(K_{+}\right)-\psi_{2}\left(K_{-}\right)=\left(\psi_{1}\left(K_{-}\right)-\psi_{1}\left(K_{\infty}\right)-6 l \psi_{0}\left(K_{\infty}\right)=-6 l\right.
$$

So $\psi_{2}\left(K_{+}\right)-\psi_{2}\left(K_{-}\right) \in 6 Z$. Furthermore, $\psi_{2}(K) \in 6 Z$ since any knot can be changed into unknot by switching some crossings.

For (3), suppose that $K=K_{+}$without loss of generality. By Lemma 2.3, $V\left(K_{+} ; t\right)-$ $t V\left(K_{-} ; t\right)=(1-t) t^{3 l} V\left(K_{\infty} ; t\right)$.

We will prove the lemma by using induction on $n$. Taking $n$th derivatives on both sides gives

$$
V^{(n)}\left(K_{+} ; t\right)=\sum_{i=0}^{n} C_{n}^{i} V^{(n-i)}\left(K_{-} ; t\right) t^{(i)}+\sum_{j=0}^{n} C_{n}^{j} V^{(n-j)}\left(K_{\infty} ; t\right)\left(t^{3 l}-t^{3 l+1}\right)^{(j)}
$$

$$
\begin{aligned}
&=t V^{(n)}\left(K_{-} ; t\right)+n V^{(n-1)}\left(K_{-} ; t\right)+\sum_{j=0}^{n} C_{n}^{j} V^{(n-j)}\left(K_{\infty} ; t\right)[3 l(3 l-1) \cdots \\
&(3 l-j+2)][(3 l-j+1)-(3 l+1) t] t^{3 l-j}
\end{aligned}
$$

Let $t=1$. Then

$$
\begin{aligned}
\psi_{n}\left(K_{+}\right)-\psi_{n}\left(K_{-}\right)= & n\left(\psi_{n-1}\left(K_{-}\right)-\psi_{n-1}\left(K_{\infty}\right)\right)-\sum_{j=2}^{n} j C_{n}^{j} \psi_{n-j}\left(K_{\infty}\right) \prod_{m=0}^{j-2}(3 l-m) \\
= & n\left(\psi_{n-1}\left(K_{-}\right)-\psi_{n-1}\left(K_{\infty}\right)\right)-\sum_{j=2}^{n-1} j C_{n}^{j} \psi_{n-j}\left(K_{\infty}\right) \prod_{m=0}^{j-2}(3 l-m)- \\
& n \prod_{m=0}^{n-2}(3 l-m) .
\end{aligned}
$$

(i) $n=3$, by Lemma 2.1, $\psi_{3}\left(K_{+}\right)-\psi_{3}\left(K_{-}\right)=3\left(\psi_{2}\left(K_{-}\right)-\psi_{2}\left(K_{\infty}\right)\right)-9 l(3 l-1)$. Thus $\psi_{3}\left(K_{+}\right)-\psi_{3}\left(K_{-}\right) \in 18 Z$ by Lemma 2.4 and $l \in Z$. The lemma is true. If $n=4$, the proof of the lemma can be finished by using the same arguments.
(ii) Suppose the lemma is right if $3 \leq m \leq n-1$, that is $\psi_{m}(K) \in 6 m Z$ (of course, $\left.\psi_{m}(K) \in Z\right)$. One knows that $j C_{n}^{j}=n C_{n-1}^{j-1}$, so $j C_{n}^{j} \psi_{n-j}\left(K_{\infty}\right) \in 6 n Z$ since $\psi_{m}(K) \in 6 Z$. It is obvious that $n \prod_{m=0}^{n-2}=3 n l(3 l-1) \prod_{m=2}^{n-2} \in 6 n Z$ if $n \geq 4$. Thus $\psi_{n}\left(K_{+}\right)-\psi_{n}\left(K_{-}\right) \in 6 n Z$, hence $\psi_{n}(K) \in 6 n Z$. This completes the proof of the lemma.

Remarks The further research on the properties of derivative of the Jones polynomial contributes to study the polynomial invariant of integral homology 3 -spheres [9-11].

## 3. Main results

In the section, a polynomial of degree $n(n \in Z, n \geq 0)$ means that the exponent of each term of the polynomial is a non-negative integer. A polynomial of degree $-n(n \in Z, n \geq 0)$ means that the exponent of each term of the polynomial is a non-positive integer. Let $\operatorname{deg}(f(t))$ denote the degree of a polynomial $f(t)$ and let $\operatorname{span}(f(t))$ denote the difference between the maximal and minimal degrees of a polynomial $f(t)$.

Theorem 3.1 Any polynomial of degree 2 with integral coefficients is not the Jones polynomial of a certain knot.

Proof Let $f(t)=a t^{2}+b t+c$, where $a \neq 0, b, c \in Z$. If $f(t)$ is the Jones polynomial of some knot, then by Lemmas 2.1 and 2.4, $f(1)=1$, that is, $a+b+c=1, f^{\prime}(1)=0$. So $2 a+b=0$, $f^{\prime \prime}(1) \in 6 Z$, hence $2 a \in 6 Z$. By (3) of Lemma 2.1, one can obtain that $a=0$. This completes the proof.

Corollary 3.1 Any polynomial of degree-2 with integral coefficients is not the Jones polynomial of any knot.

The result can be proved by Lemma 2.2.

Theorem 3.2 Any polynomial of degree-3 with integral coefficients is not the Jones polynomial of any knot.

Proof Let $f(t)=a_{3} t^{3}+a_{2} t^{2}+a_{1} t+a_{0}\left(a_{3} \neq 0, a_{i} \in Z, i=0,1,2,3\right)$. If $f(t)$ is the Jones polynomial of some knot, by Lemmas 2.1, 2.4 and 2.5, one can get the following properties:
(1) $f(1)=1$, so, $a_{3}+a_{2}+a_{1}+a_{0}=1$;
(2) $f^{\prime}(1)=0$, so, $3 a_{3}+2 a_{2}+a_{1}=0$;
(3) $f^{\prime \prime}(1) \in 6 Z$, so, $6 a_{3}+2 a_{2} \in 6 Z$;
(4) $f^{\prime \prime \prime}(1) \in 18 Z$, so, $6 a_{3} \in 18 Z$.

From (4) and (3), one obtains that $a_{3}=3 k(k \in Z), a_{2}=3 l(l \in Z) . \quad$ By (2) and (1), $a_{1}=-9 k-6 l, a_{0}=6 k+3 l+1$. Hence $f(t)=3 k t^{3}+3 l t^{2}+(-9 k-6 l) t+6 k+3 l+1$. By Lemma 2.1, $f\left(e^{2 \pi i / 3}\right)=1$, which implies that $k=0, l=0$. Therefore $a_{3}=0$. The proof is completed.

Corollary 3.2 Any polynomial of degree -3 with integral coefficients is not the Jones polynomial of any knot.

One knows that $\triangle($ trefoil $; t)=t^{2}-t+1, \triangle($ figure - eight $; t)=t^{2}-3 t+1, \triangle($ stevedore $; t)=$ $2 t^{2}-5 t+2([4])$. But these polynomials are not the Jones polynomial of knots. We comment again that the Alexander polynomial is only determined up to multiplication by $\pm t^{k}$. In fact, the polynomials multiplied by $\pm t^{k}$ are not the Jones polynomials of knots either, which can be proved by using Theorem 3.4 below. Here some differences between the Alexander polynomial and the Jones polynomial of knots are exhibited. Can one conclude that if a polynomial $f(t)$ (perhaps the Alexander polynomial) is not the Jones polynomial, then so is the case for the polynomial multiplied $\pm t^{k}$ ? We will answer the question below.

Theorem 3.3 Let $f(t)=a_{4} t^{4}+a_{3} t^{3}+a_{2} t^{2}+a_{1} t+a_{0}\left(a_{i} \in Z, i=0,1,2,3,4, a_{4} \neq 0\right)$. Then $f(t)$ is the Jones polynomial of some knot if and only if $a_{4}=-1, a_{3}=1, a_{2}=0, a_{1}=1, a_{0}=0$.

Proof The sufficiency is clear since the Jones polynomial of the trefoil satisfies the conditions of the theorem.

Suppose that $f(t)$ is the Jones polynomial of a certain knot $K$. By Lemmas 2.1, 2.4 and 2.5, we have the following properties:
(1) $f(1)=1$, so, $a_{4}+a_{3}+a_{2}+a_{1}+a_{0}=1$;
(2) $f^{\prime}(1)=0$, so, $4 a_{4}+3 a_{3}+2 a_{2}+a_{1}=0$;
(3) $f^{\prime \prime}(1) \in 6 Z$, so, $12 a_{4}+6 a_{3}+2 a_{2} \in 6 Z$;
(4) $f^{\prime \prime \prime}(1) \in 18 Z$, so, $24 a_{4}+6 a_{3} \in 18 Z$.

By (4) and (3), one can obtain that $a_{3}=3 k, a_{2}=3 l$, so $a_{1}=-4 a_{4}-9 k-6 l$ and $a_{0}=$ $3 a_{4}+6 k+3 l+1$ from (2) and (1). Hence

$$
f(t)=a_{4} t^{4}+3 k t^{3}+3 l t^{2}-\left(4 a_{4}+9 k+6 l\right) t+3 a_{4}+6 k+3 l+1
$$

By Lemma 2.1, $f\left(e^{2 \pi i / 3}\right)=1$ implies that $\frac{\sqrt{3}}{2} i\left(-3 a_{4}-9 k-9 l\right)+\frac{3}{2}\left(3 a_{4}+9 k+3 l\right)=0$. Therefore,

$$
a_{4}+3 k+3 l=0
$$

$$
a_{4}+3 k+l=0
$$

We get that $l=0, a_{3}=-a_{4}$. Furthermore, $a_{2}=0, a_{1}=-a_{4}, a_{0}=1+a_{4}, f(t)=a_{4} t^{4}-$ $a_{4} t^{3}-a_{4} t+1+a_{4}$. So $f(i)=2 a_{4}+1$. By Lemma 2.1, $f(i)=(-1)^{\operatorname{Arf}(K)}=-1$ since $f(t)$ is the Jones polynomial of a certain knot and $a_{4} \neq 0$. This implies that $a_{4}=-1$. This completes the proof.

Corollary 3.3 Let $f(t)=a_{-4} t^{-4}+a_{-3} t^{-3}+a_{-2} t^{-2}+a_{-1} t^{-1}+a_{0}\left(a_{-i} \in Z, i=0,1,2,3,4\right)$. Then $f(t)$ is the Jones polynomial of a knot if and only if $a_{-4}=-1, a_{-3}=1, a_{-2}=0, a_{-1}=1$, $a_{0}=0$.

Corollary 3.4 Let $K$ be a knot in $S^{3}$. If $V(K ; t)=-t^{4}+t^{3}+t$, then $\operatorname{Ar} f(K)=1$.
Corollary 3.5 $\operatorname{Arf}($ trefoil $)=1$.
Corollary 3.6 Let $K$ be an alternating knot in $S^{3}$. Then $V(K ; t)=-t^{4}+t^{3}+t$ if and only if $K$ is the trefoil.

Lemma $3.1([4])$ Let $f(x)=a_{n} t^{n}+a_{n-1} t^{n-1}+\cdots+a_{1} t+a_{0}\left(a_{0} \neq 0\right)$ be a polynomial with integer coefficients. If $f(x)$ is the Alexander polynomial of some knot, then $a_{i}=a_{n-i}(i=0,1, \ldots, n)$.

By Theorem 3.3, we know that the polynomial $f(t)=-t^{4}+t^{3}+t$ is the Jones polynomial of some knot (for example, trefoil). But the polynomial is not the Alexander polynomial of a certain knot by Lemma 3.1. It is clear that $-t^{3}+t^{2}+1$ is neither the Alexander polynomial nor the Jones polynomial. However $t\left(-t^{3}+t^{2}+1\right)$ remains the Jones polynomial of a knot.

Conjecture 3.1 If $K$ is a non-alternating knot, then $V(K ; t) \neq-t^{4}+t^{3}+t$.
Theorem 3.4 Let $f(t)=a_{-1} t^{-1}+a_{0}+a_{1} t\left(a_{-1} \neq 0\right)$ be a polynomial with integer coefficients. Then $f(t)$ is not the Jones polynomial of any knot.

Proof Suppose that $f(t)$ is the Jones polynomial of some knot. Then one obtains the following properties by Lemmas 2.1 and 2.4.
(1) $f(1)=a_{-1}+a_{0}+a_{1}=1$.
(2) $f^{\prime}(1)=-a_{-1}+a_{1}=0$, so $a_{-1}=a_{1}$.
(3) $f^{\prime \prime}(1)=2 a_{-1} \in 6 Z$, so $a_{-1}=3 k, k \in Z$.

Hence $f(t)=3 k t^{-1}+(1-6 k)+3 k t$. Thus $f(i)=1-6 k=-1$ or 1 by Lemma 2.1. This is in contradiction to $k \in Z$ and $a_{-1} \neq 0$.

Theorem 3.5 Let $f(t)=a_{-2} t^{-2}+a_{-1} t^{-1}+a_{0}+a_{1} t\left(a_{-2} \neq 0\right)$ be a polynomial with integer coefficients. Then $f(t)$ is not the Jones polynomial of any knot.

Proof Suppose that $f(t)$ is the Jones polynomial of a certain knot. Then one obtains the following properties by Lemmas 2.1, 2.4 and 2.5.
(1) $f(1)=a_{-2}+a_{-1}+a_{0}+a_{1}=1$.
(2) $f^{\prime}(1)=-2 a_{-2}-a_{-1}+a_{1}=0$.
(3) $f^{\prime \prime}(1)=6 a_{-2}+2 a_{-1} \in 6 Z$, so $a_{-1}=3 l(l \in Z)$.
(4) $f^{\prime \prime \prime}(1)=-24 a_{-2}-6 a_{-1} \in 18 Z$, so $a_{-2}=3 k(k \in Z)$ and $a_{1}=6 k+3 l, a_{0}=1-9 k-6 l$. Hence $f(t)=3 k t^{-2}+3 l t^{-1}+1-9 k-6 l+(6 k+3 l) t, f(i)=6 k i+1-12 k-6 l$. One can complete the proof similarly to Theorem 3.4.

Corollary 3.7 Let $f(t)=a_{-1} t^{-1}+a_{0}+a_{1} t+a_{2} t^{2}$ be a polynomial with integer coefficients. Then the polynomial is not the Jones polynomial of any knot.

Corollary 3.8 Let $f(t)$ be a polynomial with integer coefficients. If $|\operatorname{deg} f( \pm t)| \leq 3$, and $\operatorname{span}(f(t)) \leq 3$, then the polynomial is not the Jones polynomial of any knot.

Theorem 3.6 Let $f(t)=a_{-2} t^{-2}+a_{-1} t^{-1}+a_{0}+a_{1} t+a_{2} t^{2}\left(a_{-2} \neq 0, a_{2} \neq 0\right)$ be a polynomial with integer coefficients. Then $f(t)$ is the Jones polynomial of some knot if and only if $a_{-2}=a_{2}=1$, $a_{-1}=a_{1}=-1, a_{0}=1$.

Proof The sufficiency is clear since the Jones polynomial of the figure-eight knot satisfies the conditions of the theorem.

Assume that $f(t)$ is the Jones polynomial of a certain knot $K$. By Lemmas 2.1, 2.4 and 2.5, we have the following properties.
(1) $f(1)=a_{-2}+a_{-1}+a_{0}+a_{1}+a_{2}=1$.
(2) $f^{\prime}(1)=-2 a_{-2}-a_{-1}+a_{1}+2 a_{2}=0$.
(3) $f^{\prime \prime}(1)=6 a_{-2}+2 a_{-1}+2 a_{2} \in 6 Z$.
(4) $f^{\prime \prime \prime}(1)=-24 a_{-2}-6 a_{-1} \in 18 Z$.

So one cannot determine the properties of the coefficients $a_{-2}$ from (4) as in the proof of Theorem 3.5. There are three situations as follows.

Case 1 If $a_{-2}=3 k(k \in Z)$, that is, the coefficient is divided by 3. Then $a_{-1}=3 l(l \in Z)$ from (4), so $a_{2}=3 m(m \in Z)$ by the property (3) and $a_{1}=6 k+3 l-6 m, a_{0}=1-9 k-6 l+3 m$ from (2) and (1). Therefore $f(t)=3 k t^{-2}+3 l t^{-1}+1-9 k-6 l+3 m+(6 k+3 l-6 m) t+3 m t^{2}$. By Lemma 2.1, $f\left(e^{2 \pi i / 3}\right)=3 k e^{-4 \pi i / 3}+3 l e^{-2 \pi i / 3}+1-9 k-6 l+3 m+(6 k+3 l-6 m) e^{2 \pi i / 3}+3 m e^{4 \pi i / 3}=1$. So $\frac{\sqrt{3}}{2}(9 k-9 m) i-\frac{3}{2}(9 k+6 l-3 m)=0$. This implies that $k=m, k+l=0$ and $a_{0}=1$. One gets $f(t)=3 k t^{-2}+3 l t^{-1}+1+3 l t+3 k t^{2}$. Then $f(i)=1-6 k=(-1)^{\operatorname{Arf}(K)}$ by Lemma 2.1. This is a contradiction as in Theorem 3.4. So the situation is impossible.

Case 2 If $a_{-2}=3 k+2(k \in Z)$, that is, $a_{-2} \equiv 2 \bmod 3$. Then $a_{-1}=3 l+1, a_{2}=3 m+2$, $a_{1}=6 k+3 l-6 m+1, a_{0}=-9 k-6 l+3 m-5(l, m \in Z)$ from (4) to (1). So $f(t)=$ $(3 k+2) t^{-2}+(3 l+1) t^{-1}-9 k-6 l+3 m-5+(6 k+3 l-6 m+1) t+(3 m+2) t^{2} . f\left(e^{2 \pi i / 3}\right)=1$ implies that $\frac{\sqrt{3}}{2}(9 k-9 m) i-\frac{3}{2}(9 k+6 l-3 m+6)=0$. Hence $k=m, k+l+1=0$ and $a_{0}=1$, $a_{1}=a_{-1}=3 l+1, a_{2}=a_{-2}=3 k+2$. So $f(t)=(3 k+2) t^{-2}+(3 l+1) t^{-1}+1+(3 l+1) t+(3 k+2) t^{2}$. Then $f(i)=-6 k-3=(-1)^{\operatorname{Arf}(K)}$ by Lemma 2.1. This is in contradiction with $k \in Z$. The situation is impossible too.

Case 3 If $a_{-2}=3 k+1(k \in Z)$, that is, $a_{-2} \equiv 1 \bmod 3$. Then $a_{-1}=3 l+2, a_{2}=3 m+1$,
$a_{1}=6 k+3 l-6 m+2, a_{0}=-9 k-6 l+3 m-5$. So $f(t)=(3 k+1) t^{-2}+(3 l+2) t^{-1}-9 k-6 l+3 m-5+$ $(6 k+3 l-6 m+2) t+(3 m+1) t^{2} . f\left(e^{2 \pi i / 3}\right)=1$ implies that $\frac{\sqrt{3}}{2}(9 k-9 m) i-\frac{3}{2}(9 k+6 l-3 m+6)=0$. Hence $k=m, k+l+1=0$ and $a_{0}=1, a_{1}=a_{-1}=3 l+2, a_{2}=a_{-2}=3 k+1$. So $f(t)=(3 k+1) t^{-2}+(3 l+2) t^{-1}+1+(3 l+2) t+(3 k+1) t^{2}$. Then $f(i)=-6 k-1=(-1)^{\operatorname{Arf}(K)}$ by Lemma 2.1. So $f(i)=1$ or -1 since $f(t)$ is the Jones polynomial of a certain knot. One can determine that $f(i)=-6 k-1=(-1)^{\operatorname{Arf}(K)}=-1$ since $k \in Z$. So $k=0, l=-1, m=0$ and $a_{-2}=a_{2}=1, a_{-1}=a_{1}=-1, a_{0}=1$. This completes the proof.

Corollary 3.9 Let $K$ be a knot in $S^{3}$. If $V(K ; t)=t^{-2}-t^{-1}+1-t+t^{2}$, then $\operatorname{Arf}(K)=1$.
Corollary 3.10 $\operatorname{Arf}($ the figure knot $)=1$.
Corollary 3.11 Let $K$ be an alternating knot in $S^{3}$. Then $V(K ; t)=t^{-2}-t^{-1}+1-t+t^{2}$ if and only if $K$ is the figure knot.

One knows that $V\left(4_{1} ; t\right)=\triangle\left(5_{1} ; t\right)=t^{-2}-t^{-1}+1-t+t^{2}$. It is right that $\triangle\left(5_{1} ; t\right)=$ $1+t+t^{2}-t^{3}+t^{4}$ (not the Jones polynomial by Theorem 3.3) by the properties of the Alexander polynomial. But $t^{-2} \triangle\left(5_{1} ; t\right)$ is the Jones polynomial of some knot (for example, the figure-eight).

Conjecture 3.2 If $K$ is a non-alternating knot, then $V(K ; t) \neq t^{-2}-t^{-1}+1-t+t^{2}$.

## References

[1] ALEXANDER J W. Topological invariants of knots and links [J]. Trans. Amer. Math. Soc., 1928, 30(2): 275-306.
[2] JONES V F R. A polynomial invariant for knots via von Neumann algebras [J]. Bull. Amer. Math. Soc. (N.S.), 1985, 12(1): 103-111.
[3] LIN Xiaosong. Zero of the Jones polynomial [OL]. http://math.ucr.edu/ xl/absik.pdf.
[4] CROWELL R H, FOX R H. Introduction to Knot Theory [M]. Springer-Verlag, New York-Heidelberg, 1977.
[5] MURAKAMI H. A recursive calculation of the Arf invariant of a link [J]. J. Math. Soc. Japan, 1986, 38(2): 335-338.
[6] LICKORISH W B R, MILLETT K C. Some evaluations of link polynomials [J]. Comment. Math. Helv., 1986, 61(3): 349-359.
[7] KAUFFMAN L H. New invariants in the theory of knots [J]. Amer. Math. Monthly, 1988, 95(3): $195-242$.
[8] JONES V F R. Hecke algebra representations of braid groups and link polynomials [J]. Ann. of Math. (2), 1987, 126(2): 335-388.
[9] MURAKAMI H. Quantum $S U(2)$-invariants dominate Casson's $S U(2)$-invariant [J]. Math. Proc. Camb. Phil. Soc., 1993, 115: 253-281.
[10] OHTSUKI T. A polynomial invariant of integral homology 3-spheres [J]. Math. Proc. Cambridge Philos. Soc., 1995, 117(1): 83-112.
[11] LIN Xiaosong, WANG Zhenghan. On Ohtsuki's invariants of integral homology 3-spheres [J]. Acta Math. Sin. (Engl. Ser.), 1999, 15(3): 293-316.


[^0]:    Received June 1, 2008; Accepted October 6, 2008
    Supported by the National Natural Science Foundation of China (Grant No. 10771023) and the Liaoning Educational Committee (Grant No. 2009A418).

    * Corresponding author

    E-mail address: hanyoufa@sina.com (Y. F. HAN)

